calculation
year rebate percentage euro 3 euro 4 euro 5 and EEV euro 6
turnover will be multiplied by 0,5 [turnover will be multiplied by 1 (on turnover will be multiplied by 2 |turnover will be multiplied by 2,5
(on this final amount the annual this final amount the annual (on this final amount the annual |(on this final amount the annual
2015 6,1568 percentage will be applied) percentage will be applied) percentage will be applied). percentage will be applied).
2016 up to 10,1131% 7,0014% 8,5572% 10,1131% 10,1131%
2017 up to 11,4578% 6,1696% 8,8137% 11,4578% 11,4578%
2018 up to 9,4582% 3,6378% 6,5480% 9,4582% 9,4582%
2019 up to 10,037% 3,0883% 6,1766% 10,0370% 10,0370%
2020 up to 9,508% 2,1942% 4,3883% 9,5080% 10,0370%
2021 up to 9,9099 euro 3 cannot obtain rebate 4,5723% 9,9066% 9,9066%
calculation
year rebate percentage euro 2 euro 3 euro 4 euro 5 or more
turnover will be multiplied by turnover will be multiplied by
turnover will be multiplied by 1 (on [turnover will be multiplied by 1,5 (on [1,75 (on this final amount the 1,75 (on this final amount the
this final amount the annual this final amount the annual annual percentage will be annual percentage will be
2006 11% percentage will be applied) percentage will be applied) applied). applied).
turnover will be multiplied by turnover will be multiplied by
turnover will be multiplied by 1 (on [turnover will be multiplied by 1,5 (on [1,75 (on this final amount the 1,75 (on this final amount the
this final amount the annual this final amount the annual annual percentage will be annual percentage will be
2007 13% percentage will be applied) percentage will be applied) applied). applied).
turnover will be multiplied by turnover will be multiplied by
turnover will be multiplied by 1 (on [turnover will be multiplied by 1,5 (on |1,75 (on this final amount the 1,75 (on this final amount the
this final amount the annual this final amount the annual annual percentage will be annual percentage will be
2008 13% percentage will be applied) percentage will be applied) applied). applied).
turnover will be multiplied by turnover will be multiplied by
turnover will be multiplied by 1 (on [turnover will be multiplied by 1,5 (on [1,75 (on this final amount the 1,75 (on this final amount the
this final amount the annual this final amount the annual annual percentage will be annual percentage will be
2009 13% percentage will be applied) percentage will be applied) applied). applied).




turnover will be multiplied by 1 (on
this final amount the annual

turnover will be multiplied by 1,5 (on
this final amount the annual

turnover will be multiplied by
1,75 (on this final amount the
annual percentage will be

turnover will be multiplied by
1,75 (on this final amount the
annual percentage will be

2010 10,46% percentage will be applied) percentage will be applied) applied). applied).
turnover will be multiplied by turnover will be multiplied by
turnover will be multiplied by 1 (on [turnover will be multiplied by 1,5 (on |1,75 (on this final amount the 1,75 (on this final amount the
this final amount the annual this final amount the annual annual percentage will be annual percentage will be
2011 9,59% percentage will be applied) percentage will be applied) applied). applied).
turnover will be multiplied by 0,5 [turnover will be multiplied by 1 (on turnover will be multiplied by 2 |turnover will be multiplied by 2
(on this final amount the annual this final amount the annual (on this final amount the annual [(on this final amount the annual
2012 9,06% percentage will be applied) percentage will be applied) percentage will be applied) percentage will be applied)
turnover will be multiplied by 1 (on turnover will be multiplied by 2 |turnover will be multiplied by 2,5
this final amount the annual (on this final amount the annual [(on this final amount the annual
2013 6,5108 no rebate granted percentage will be applied) percentage will be applied) percentage will be applied).
turnover will be multiplied by 1 (on turnover will be multiplied by 2 |turnover will be multiplied by 2,5
this final amount the annual (on this final amount the annual [(on this final amount the annual
2014 5,5345 no rebate granted percentage will be applied) percentage will be applied) percentage will be applied).

Also night transactions will be granted a small rebate which is 10% of the above-mentioned percentages.

Calculation example:

class rebate percentage turnover 2014 calculation rebate amount total rebate percentage
euro 3 5,5345 10.000,00 10.000,00*1*5,5345% 553,45 5,5345
euro 4 5,5345 10.000,00 10.000,00*2*5,5345% 1.106,90 11,069
euro S or
more 5,5345 10.000,00 10.000,00*2,5*5,5345% 1383,625 13,83625

For a class 5 the extra rebate for transactions made by night in 2014 would be 10% of 707,50 = 70,75.
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